[ ool 5oiz 5 49 92 oL,
12+12+12= |x3=[_]
» =

[> =Eeh: 48

124+12+12=12x3=36
I8ER 1.2+ 3.6 =4.8YYrch




[ ]otll B 58 T3] = 9] F& T L.
1.64+16+1.6+16+16=16x] |=[ |
> =

> ®eh: 40

164+1.6+16+1.6+16=16x5=28
d8BE 5x8 =40YYrh.




FAE 2.

3.08

oln

49.28

ull
&0

.l

3.08

1848
308
49,28




o
I
oln

42

26
1092
10.92

.I
.I

wrabA 42, 26, 1092, 10.92 Yy Th.

42x%x2.6

>



5.

il

e A BT[] SojZ gue 48 4

26 32 [ ] [ ]
26x32x04=""xZEx === =] |
[ ]

1071010

i

iy

0
o

3328

0
o

1000

v VvV vV Vv v v Vvy
X
it

0
L

3.328

26 32 4 3328

whabA 4, 3328, 1000, 3.328 YUt




6.

o A Ba [ e BojZ 4ot A MgE Ag n2A
°.
0ax17xa2— 3 32 [ ] ]

] w0 0 [ |~
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318.9 + 318.9 + 318.9 + 318.9
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318.9 4+ 318.9 4 318.9 4 318.9 = 318.9 x 4 = 1275.6
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783.1 + 783.1 + 783.1 + 783.1 + 783.1 4 783.1 + 783.1
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8 465 3720
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® 2.17x10 (@)21.7 % 0.01 @ 0.217 x 100

@ 217x0.1 ® 2170 % 0.01
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D 2.17x10 = 21.7
@ 21.7x0.01 = 0.217
® 0.217 x 100 = 21.7
@ 217x0.1 =21.7
® 2170 x 0.01 = 21.7
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790 x 0.001 © 0.079 x 1000

> E.

> HE <

790 x 0.001 = 0.79
0.079 x 1000 = 79
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@ 0.24x35 © 0.7x 560
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© 0.45 x 123 = 55.35
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@ 2.15x 8 x 0.38 = 6.536
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@ 15x06x%x3 O 58x0.6x5
© 0.7%0.05x4 ® 43x08x%x3
@ 0.33x72x%x6 ® 58%x2.7x%x3
> cCF
> =g 4712

@ 1.5%x0.6x3=09x%x3=27
© 5.8%0.6x5=348x5=17.4

© 0.7x0.05 x4 =0.035x4=0.14

® 4.3x0.8%x3=3.44x%x3=10.32

@ 0.33x7.2%x6=2.376x6=14.256

® 5.8 x2.7x3 =15.66x3 = 46.98
71 2 4 0 46.98

7+ 11—_: 21 0.14

49 9 1 47.12
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2246 x5.6 O 22.46x56

2246 x 5.6 =(4&5 B 2] &)
22.46 x 56 =(&5 F 22| &)
whebA] 2246 x 5.6 > 22.46 x 56 YU T},




28. Ol >, = <2 AA HLOA S,

1.973 x 100 O

1973 x 0.01
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1.973 x 100 = 197.3

1973 x 0.01 = 19.73 = 197.3 > 19.73
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2ol F27k 4 ol 912 o] AL .15 kg oSl ©f
F220] L & UAIR K 59 RAA7L 26kg Ol F2 Ee] A}
% kg YU

T2 A+ (] FA)) = 3.15(kg)
Z 0] 1 o] B) = 3.15 - 2.6 — 0.55(kg)

F20] Tﬂl)—o55><5—275(k )
ko] A = 3.15 - 2.75 = 0.4( kg)
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m? Q17 AL
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> HE 24.696m2

9.8 X 6.3 % 0.4 = 24.696(m?)
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AAY7?
@ 49.1 x 358 = 175.778 @ 4910 x 0.358 = 175.778
@0.491 X 358 = 175.778 @ 491 x 3.58 = 17.5778

® 491 x 0.0358 = 175.778

@D 49.1 x 358 = 17577.8
@ 4910 x 0.358 = 1757.78

@ 491 x 3.58 = 1757.78
® 491 x 0.0358 = 17.5778
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36. e = A AT HEE A] B35 AL oA QU7

@D 5.93 x 1000 = 5930 @ 4.5 x 10000 = 45000
@70.4 x 0.001 = 0.704 @ 150%0.01 = 1.5
® 32.4x0.1=3.24
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@O &5Ho] Q2& 0 2 A ] SAAA
5930 o] Elong % 5tod 2= 4= 5.93 Yt}

@ 243lo] REZ O 2 U] A2 HFAHAA
45000 0] 2.2 —’S—ﬁ}% T 459U
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FHote 4+ 150 4yt
® &5Ho] AZK o= 2 A A 3.24 7}

Helenz HolozE £E 32444t
O

et Fge @y,




37. S ZojA 44AL HIEA Be AL TEAQ.

@® 53.436 x 10 = 5343.6 @ 534.36 x 100 = 534360
® 12.49%0.01 = 1.249 @ 12.49% 0.1 =0.1249

@124.9 x 0.001 = 0.1249

~&B

@ 53.436 x 10 = 534.36
@ 534.36 x 100 = 53436
@ 12.49 x 0.01 = 0.1249
@ 1249 x 0.1 = 1.249
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~&B

@ 628 x 0.01 = 6.28
@ 6.28 x 10 = 62.8

® 0.628 x 10 = 6.28
@ 62.8x0.1 =6.28
® 6280 x 0.001 = 6.28
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[ x25=0.0037
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~&B

3700 °14 0.0037°] =HH A5 AR =
o5t At ZHUTH 2594 A4 AEIE
ol55te] 255 HEPH OB R 148 A= &%
A2 & o) Este] B YT

orebA] [ = 0.00148 AU T




40. the [ ool Soiz 47t umxe} B AL ol AU

@D X 3.72 = 37.2 @ [ ]x0.743 =743
® 0.036 x[_|=3.6 @ 6.41x[_|=641

® [ ]x0.4865 = 48.65

B
@[ |x372=372,] |]=10
@[ |x0.743 =743,[ |=100
®0.036x[ ]=36,] |=100
@ 6.41x[ |=641,[ ]=100
@[ ]x0.4865 = 48.65, [ ] =100
wtabd [ eto] 47} b2 ALe OYYTh
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9 92 30 ¢7HA] AHYT
0.75 % 30 + 0.68 x 30 = 22.5 + 20.4 = 42.9(L)
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176248 = 43648 Y2 &1, th-& Atol] 284S EA B2 A&
T2A9.

@D 176 x 0.248 = 43.648 @ 0.176 x 248 = 43.648
® 176 x 24.8 = 4364.8 @17.6 X 248 = 4.3648

® 1.76 x 24.8 = 43.648

176 x 248 = 43648
1 .
@ Og:%oﬂ E"'Eo]'ﬂ

1 1
1 248 X — = 43648 x —
76 X 8><10 3648 0
17.6 x 248 = 4364.8
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@O Ox04 @@x 1.6 @1,02x®
@ 01x06O ® 0.085xO
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@& 1 ol o,
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@1x1.6=16
®1.02x1=1.02
@0.1x1=0.1

® 0.085 x 1 = 0.085
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@ 584 x8.06 © 0.825x 16
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@ 584 x 8.06 = 4707.04

© 0.825 x 16 = 13.2

© 8.7%0.059 = 0.5133

® 0.48 x 0.29 = 0.1392
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45. o ol 6.78 = wolloF & A& AR 6782 HIHAHY,
1559.47F E 5Tt HE2A] AL ES LSHA] L

> E.

> FEHD 15.594

I

ol"d £242[ ta std
HREA ARG A [ |x6.78 = A
7;%—‘/% 741*&’3& *4 678 = 1559.4
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A2} vk grorthd | 4

—sh,]

A BA 1 4.7x 4.5 = 21.15(kg)
o] £A 1 5.9 x 8.5 = 50.15(kg)
= 21.15 + 50.15 = 71.3(kg)
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olL st AN FEE § A7 AHSSHE o 32819 4§71
AelEich T gy sheo] 5 AT 45 24 67k AL, g

= 5 A|7F40.75 A 7= 5.75 A 7+
wabA A-GE 328 x 5.75 x 6 = 113.16( L) 2B E Yt}




48. 827 x 512 = 423424 & o]-g3}o], A5HS FHE HL2 oL A
7k
@ 0.827 x 512 = 423.424 @ 8270 x 0.512 = 4234.24
@ 0.827 x 512 = 4.23424 @ 827X 5.12 = 4234.24

® 827 x0.0512 = 42.3424
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827 x 512 % L = 423424 x L
1000 1000

0.824 x 512 = 423.424
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